
9) a)
9ruflulJ

- A <41 ..
#ilmocfr oovrrutolavsEqflS.:n:coniiut4al :suu PEDICULAR SCREWS--o-o 

(o :s6'u) n url.iuufilri,irfioGursu

dfuniltAtil a/b,ffid

- - i. !
d{uru1aluuvrltu fu L5i1IU1u'lau'luull? (a.inn'1511fi'ltu) oc(d 141.1 o rl'lua!1utllt?

tirrnariruurir 6'rraioarlvr:arn: rdoiud 
"< 

ln:1nx bdbd :cu'jrl 1:lY{urlrariruuria (o.lrinr:

r:yrru) lou u'rurr:r r nrr{uin: al"ruvrjl (.rirurunr:l:{rururadruuvi': ii.roiohJtua'ryrgrdr6un'jr
.2,.i,-id4aa

"r.tfluda" r.l'ru14u{11 nu u5uvr ituuJ9ltvln i,'rflo {{iavsrlruutuuununna fu aluft{'luvlsluuu ua']u

uisvr o.u,rinun:rJrr n:uvriruuro:fronr:6r n:vv:rlurtisti fi;irrinrulr,rniod raririrunnndanrai
!,l,

uatfr <cr/<<o uri 6) {aubs, auuflutndr un:tluri siruaurltetu tittnofltln:tu i'lurhun:lg:L

Iou urtr6:qvro 6:vqafio qiEdruroaluru4nr{ui6rlnnarJ:rnnnrulri.rf,oiu:oltos iirfin.rruvvu;'uu
- ^ <e - -i,ud'luuSgyt d{14aoun:!tu nSrJlig}ru'10:ftenl:n1 fl5syt5?.1y1.tfutu vl lu.ooobbd a{2!vl om

n:'rn bdbd uuuiroflrgcgrd d.roio1tl1ufr'ryrgrdriun'jr'{tvtrru' 6ndruili.1

rifrzu zur1oim na.r riufi {on':ru6'r siot!d

!
tO 6,. tJOnna{tvSOiUlllU

e!4-
fl avsanna{as$ottaufl nur'runfl a{av$ru tcfiavs6qnirn:vornd'uradl :wu

PEDICULAR SCREWS (o :s6'r) druru oio !o d:ui6rl:vn':o:rnr6r5nv:afinii (e-bidding) fl11

ronar::runr:f,udruas:rnrsiou aa ronar:uuuviro#rgrgrruurn o ntrrirurufi{ordotratiiiorflu

uaor) r6ou ras{ueiiuii od n:'rnr uaua oufi.riud od fli1nr
a l!

baua rf,u:rnryniurj:sur6u o,bbd,ooo.oo urvr (rafildtraoluauaolrafiufirfiriurvrriru) 6.116
d,-'aig.

??ufl1u!anllfl 9laaniufllua1n5au1 uavnlttnluvr.:lJ2.rfr?uua?

- Ca : j i <naooaluafufulu astluiuauaflu1a{tan 0st1u9l'tlr?i:n untn:ura{ o1l

"--,- !\e , J,-
Ifl#uri{ov6o16'otjrlrfiulvraotLiirueufi{d'qrprtoinnar :vurrunr:lflu ronar:uurriruiryrgrerurn

o Ufi os{Aaln
JJ - tr i d
6ltoo:.l nlutu1450aoarot notuau :vrLrrunr:o":ndtfrtd -

Isowuru'!adruurt:
(DorintsUri.t,JU)

Banphaeo General Hospilal
Hio

H?-ru

1't u'l u

Ilul u

SUNMEDITEC (a16o)........

(a.rfio).......

( r1 Jad) ..............
SUNMEDITEC CO.,LTD.

U
f,

10 b. nltlu:o.i...



2

ro b. n1::uio{n6un111

, i f, a, v !4 qu
il0y11u5!5a.i?1ei.iti0{li0vt']u lfi9r''r]la[u6u'rullJulr0{u,vl lJ0{ [14u ! [nu [x.r'ru

lrrioulrirf,utolurirrfir uavfiqrun'rfluavqruailtfihier'rn'irdririluoliluronal:uuufr'ludturUl u?n

. di a. !; A v a ' Jtun: vtruufl1itod.lto{q{0vFro.1 fl't:st:?0 q40{ ,.l0vtJ1ulti50.l?'l u}J0a:?fl

eao{ua1 na{un6un11r[[avfl ruau{fibisirn'irfi ri1lauol{riru

i-
to m. t0fl ali0Uluua?uvfll{t4{a[UfU'l

- ' " ,i5 ) - i
ronaliuuuvrlB?i6u6u1n{no [!u Luoaruua?urlu{1J 0{el6u6u'1u

6n.@ llEJaY[OBnUAYnfuanufuv

sn.b Ungl0l'16On

m.m tOnal:UaflilutJo.iullryl

nxr toluranariuuuyilu#tu6u1fi rior,rio uri.rfi'rdan?1illua-ru6u1d lfi"[{
!- - o <i

ton?13r Lua[u6u1uri{nu uau [unl6uvl[0nalluul.ivlrua6u6u'rgouu{ nuto{ Er0v?r'lu0vF]onuurlo'l a1
. ! "-- - v lqua a" Aruo ura.r nssa nr2uaauro{iiaviio'trifiocflufraq uavliovtrutrifi?r6Gunior:rnr rilf,uvru r,1:o

n1Lto"ru Lo"l [Yr]JtFr alnrynu$o {au

. o ;,!
flo d. fl1:oon [!awou9]aun51?

e Z c i'!;
Hnu$otvoofl Lu6.it0a.i$on [uunacfl 5't']nrtgn:1un15[08?14:ova1u51unl5

n5orLriufilpilurJiulruudauilufll:n:'rlavoEjln 'rnl rfiu ol (ilfii) qo r,riootir.rrioulrisirn'jr . (ufil)

ro lau:su{i .r6u dorufi [auiur?arfiriovtruosoio.reiuraulflulua'liiousiaunrl? rn'.,d #ordoot
o "ri o e!,t'p , .e.u

Oon[UAW01I0Uhiufl ouljlua?{ Ulnoun:Ufl11n]ol?a1A{ 0Un1 [!a{toB]uoun?1 s, ([0o) 2u

Q1U?U

n1u?u

1'1U?U

b uilu

otn
oo Llilu

10 d. fl1:a{:.lo1l

,i
fioc{runna.i'irocd{ aua.iro{enlargrgrhiuri{ovdantLr.lS:Lrcu 4fl1ufi

J- ! -uavluiurearfrrirrauolfluha'r6ausiavn:r'rdruFirldd'']uro{frostruro.r 1r: o:.r1r {vru 14 o14: o rn: o {: n

Tluzufl LvL:u1r:aU
Isorvgrura0r urr rtt

(artinrsunlju)

SUNMEDITEC (arfio)

Banphaeo Gejier,li Hosp rt..)[

$o b. n150t?a:!...
../-,
b.LJ

( nlTO).....

:;'ic)

trillu

1 { a,l r.lv
llu I rl

SUNMEDITEC CO.,LTD.



3

t0 b. n15Fr:'la5!

I v i c q v i ;,
tr.t0r{avt0 [91915?05! a.it0{ a{ 0u ua c tvu?1fl n n0{oluftlunl a6u6l]'luau

. "\36 , . s * d, uaqtov i v'[rl arfialu uriaynr 1? ud? riau6onvoon dno'run1:frl ou rtlurarirfrolflri rfroriovtrurirur r{Ju

- - ,i a
uanfi 1ulj5sfl o!n1:t05Llt'iufl 1a{10{uu

, , .l ty o c J
drl'raro{nr:q:rairrJ:rng'jr fi.ltorfi{orururiiilatlhiflr{rr1ilf6U6U'ruash6i-.i

& - ! cri - -J c ,- J Z o - , Z . v a " i C - - s .. ;
rto Bllvrtar5.i tl{{dvtSvlnv [!5u6{fla{uu lufl:ruttuu r'ltv1t'1u9t0.ii1.Ju']ant0{1Juna!nu tau [5?YI60

,i "iryirfroylirlduasdra-.rta.rurd.:rLorbiluilraiorfilrfir:}iqn#olntrdcyrgruavluft6ooirurirl{riruto.:{

ovrjlu[o{ !!avisr]vr?arfi6uhjn-lndm fiovljruovdrurdr.irf,urusrl,oftilur'rard.luouv6oroanr,lio

rnrididritri

ta sr. fl'l:t1iJl'lu

. z -' J" .- i" r e .rJ
nu{onvn't5ut{un1a{ta{ylfl 1u?fuu'lulJtxlfuylfl 'l14uo tu !!a'itounaunll?

[avn1 :1n1eiovil':trn-r:vq1flu lona1:uuufr1ua0Jryraurn o lviudfiovrrunrulu *o (uirfit) iu
- As . "- '. !

uuoooln?u aroJll1ulollann ano1ufl1::u oun1tlto b t14unfl0s{0

do a. nr:iurl:vriun?1 1i1:o!n io.r

{ovurunnarirr.Jrsfiun?rrrrillelinuio.lraioriorio.rtold.ruo.rntrai'rgrgrdrf,u
, t,d, - - - av

r?a1 o (ufl{) iJ furYoorniufi{ov6o16'iulou IoE nrulurirfiuoraaleT.indl?fi'rnalroifl'rila6yru1firnel
4 oe

t,r50!nfl:a{urolro?,o{au[ua{!1n1nn1:1d.:']Ll9r'u nfi riacrruosda{{srnr:dallusruEoudtrtuou
o iov - &v-
1uanrnfrl{nr:tdddl16r nrulu s'l (rin) iu ri!rYqorniufildi!u{rorn{ov6o Iouhi6orirlddrulnl

vtldu rarnriartruhi{onr:doluslvEouritunrulurir}iuflr?a1eirrflii1? fiavdafi?vrBfiacdrnr:riurar
- u v) au" z .

u5o,i'rqri6u'lftirn'liriuu u,iovryrB Iouriaarrodo.uf,uoioonrirldo'rurooT.riu

lun:airdviruiitfl u6'orir ui'tt nanrir:au nfl io.ir;o{odo{aru rir uayhiarq

ronoulririovtluuriltlu:vuvnarfiriryuol{nrrLr::nrafi'rki frocdafisyrBrdri'ofl'r:uritrrverlilio
Z - o vsA

unvrio{u5o{o{olriuror ra5olri{6uufihn?'rrrril!nunndoo.rian-nda.: Iou{outruoioliufiotoudr:y

n1Lt01uvt{u o

Ae ! " J -oysa "nr:vr.tov6orirnr:riurol vr5ohiridurirnr:riuuyruriovmu bilirl#frovmuvar,r

riuornn:rr:"r-rfino1rd'6g6U'r rarnriovurulriroldrirldsiruytarirrf,err,rruflrilfiriov6oriunio.: {ov6ofi
?yrBu-.:6'r o r aydnr J :v riu nr :ilfr f 6 mtr#ryryrt6'

1)I

IsoworuraGruttvt:
i (ootifl.lsuHluu)

{f tPhrffi 103?frii.u cs P i tn t(iir6o)

(arro)

A\!.r.v

Ak t n,'1uSUNMEDITEC
tariio)....... Itulu

SUNMEDITEC CO.,LTD.

(-y.

UIrl

t,



4

{o c<. vdnrl:snjunr:rJfl {fi nuf,rgtpr

lutruvrir#qqrfi frovtrukirit,r6'nrJ:vriur{lu t6n ournr:nq.rtvrn (o'rrio)
; - i c. "!141tU mt ooobbdlem A{?Uvl od n:1nu bdbm tuuQ'lu'luiill bo,bdo.oo Urvr (vnufiuUfi.l

v -A
r{uaol5orrfirfr!urvrdru) fi.rrvirrTuiouav a (rir) ro.r:rnrrf,cvilflrr1rfrue1 rtrotl#uri{ov6orfio

-!ruu an!:vnun15!fl1jqfll afufu'ru

d, - ^ "" - d. r .

n:fi {ovtru"ffirarilfi orirrJ:sriulrriluua"n iun"un'}t fr tTntrfirgryr raril?o
X s i, -filuSynuo{na1xou9o{o0n !ou0ulnltvru:vn0unnn1: Lu!:v[rfi tvru 1450 L9ruuiuvrt{u4u 1450u5uvr

- t*s- .,1 - . , - !
r.luvruua=nviT{EiL t051rauar'rn h4 :vflo!n0n1:tnuflutlrofl15Yr1fuluuau!5vnou[:fl0 nluisnu9ltJii

ri:vnrfitorournlruli.i :v!vfi1vru orrrrludou3frriuvrudoulnl:uli{r.J:vtflnhu u{rriuulfiyr:r!
J s - I - e -- X

911lrUlJlrvro6uvn5: n1:uluu1Bnll0flt00o01nuavnl:uiu15 aqflln:5nlvunv:8a10[uu14u.iaon1
i -d o dry

rJ:vnnOrhnm:oindnrliSnr:frn:ufrginar.:rirvuofftd uacos6'o.iiorunlrr,ililiurYuoaoohJoun'ir
-4

HOvfl ',tullutoclfltlust,11Ja fulu

raa'nrj:vriufi eiosn1ud1uriloullierlrl?::nufi{ ocdorfi arun:a!oa n?1 iu
- J - Av , d i ,

i.lq1ln 1.i1Jo{il0vl1Bmao0a1ua aJ'r u'r aflU:vfluvlr.rovlJluul,]1tJou !14o.ina1?aqa.r t0[40t.]P1a{
e1

1450 A1q urn:AUnqr.rfl{n?1 tur.rol,0.1fl03t'ruqaoqalqarlJau'r uJ?1a?ut14E[o3l nnlr:?rJ6]nn:fu flnu.:
fllUdn oua{to{a1{'ttllut149l [?t:uue[']a1a.tt]0u ta1un5ufl114uon11!iLlilq tun?1ut'']50uflY{i0{rl1!
- .; ^ ! - : - ,vd
eiefultlauuula{ [U ht?'lov[notun:1? [q aJtlugro{141vdnu:unuluruia afll lscflutYuJtq Lv

iirurun:rrirunr!?::nfif,{!1 oulfruri{ovdonrulu oe (fiu#r) iu riufiqorniufild'iuu{.:rtu
.!

u{aoalnql0s{o

na-niliurYufi giour1ud1il1rroul{arldod frovdoou6u}iurir'iovuru Iouhifi
1 s, - -- ! - i -oon[!0u]aflnvfl1tJlIu81fl$aflflYluuaun?''l :uflnYl{1?{FlrJa fuluua?

$0 oo. nltuOnmnAfUfU'l

dr{ovtralilr.tfr ffi mtrirgrgrdolodoufi l v6orfi on:rritauqdwauS.irro.i
. e! v r,, -' i o.,. 3

9r'] [ua{so 141nflov1,1u [r]antoua.it0iylnfla{tvt'tti [u unflQvt01450a{rJou [1]flnaa{M:0 t nlu
" . !-^^ z -il'ru:u rirv6ofif,vrBuonrin#ryrgrvr-.lrarLora6ousiurrd:uld'nr:ldfrvrBuonrinf;'rgrgru"uliln:vyniayrB

,3e
10.rfl au{0vraut:uni0{n1lauv'rBn1fl fl lst'ru

i--*
1un:rifi {ovda16?vrBran rfi nii'rgryr {ov6ofi Svrffiu,rEafr6'uornraa-nrJ:v n-u

, I . - & t 1qe e t e A - Xa1!10 c( ltJU01UlUt.:UYlrllrlJO14SOUrlUl{a?Ufl tO UA'l UglHAs{OOs[1,iUAlln?5 UAsnlflAUS0iiOgO
i i c. -l , .i a
a{tonolflunnaOU[q'lA1U2Ll14:OtAlrlUnlu?UvltJ']qa{ UA?UAnl nlU[Un1]ruO o (14U{) LOOU UUAO

J.
alnilruon!and'6Urgr riovtruo;6'olsn1{:rnrfirfiil6uo1n:1n1firi114uolilua'rgrgrfi6ru

SUNMEDITEC

SUNM EDITEC CO.,LTD.

Isow€Jr ura u-l u llWl
{oJnnlsuil-lui,)

Banphaeo Gene 
'-'L 

llosPital

da r.. ritjiu...
t,r r i o ).......*i.::...".....'i;@
. i. f>JJ rilrrr(a1to)..........,,.:1_..,....-,.,...,

. l).rt n /
(, t<i,t\ .........OJt€l. N. / "..',.. t ;': t t

, 0/
i.: : i i,r ...............il/........... tiir I 

'r



5

to oo. n1!:!

lun:nid{tvdakr'tdf,vrBuon16n#rgcgrsn!{o ro {ovtraorfra.lrir:uriT rJit
--. ! a.'lririovfiortlu:ruiu luoin:rfouav .uo (qoaor4uti) raiaForfluiu 1 au b,ddo.- ulvl (ao{ilTueiou

-!. )-t gv-
ririwrvrri':u) ro{r1n1a.iflo{fiu{ $.ito:tnrolJurJooelfl?unr!nr uodruotn'utua-r6aoufiriufii'lv

trukirirf,rror:Lrd.:uorlfruririovdoau0neionfliufr?ur,'rulrld'.r{o vSooufiriufifiovi{ol6iiod.:tord
o Ji I i e -!e jj j .io

assra{{1:eal [1ldwouualnunnaou [un5ruuH0vt1uu0r.li!ti9ltfl tt:1n1v[Yt tua']n:1n1 fl114u91

s )v ".. !--,,- itrg- , J ) v
['] [uaflJfu']o?u s{fl0v1J1uo na.i tl4fltvqaun[{un1!5uuau:']n1yltltr.lltun{nal?01n51n14{14{flnYn0.1
" a "tJ .e, ! -ii''lisnlx [ud-ndoo:1'] Lofl La 5a tl4Brav{or:u n:o{01ntJ0v!1u9MJo c)b 145onur.l{nun1n afl!:unu

Av !
nl:U0UerFl!ArUQle'll.Jlj0 G( ntn rl'lU tAsfl 00t[uUAUa?t

d: i 3 4 tr
fl 1:nnri'r!iu'[un:fi fr ltorfi r|na.rovfi oos?rurJ:cnou riurfl uto urifrovtrua.l

r.rourfiu{!l.rdxuu6otrndrur]:vnardrurafirairulnhj n'rlfi'l,riarl'r:01{nr:tdTfloarl!:ni hi'6o'irtir
;J;ag

[![oa{ oua{fl o.tuutau u6v L nonl!lun1n:']n1a.ito{t0lr.Jvl{to

' I u 4a 'ulu:vra'irlfi fiovda El-.:fil61d'eilBuon rAnAruruluu v1 nruov{o [14u?1hovfl r ulri

o1alfruTn1ilfi6!ryroiotrJtd {ovdoovl{fivrBuan16nd'rgrU1 uauiuiliaf{nit-rornua-n :vnTunlrilitG

glrr#rUry'lo1lldo 
"< 

ffuriuniofl#told:rnrdrfildunrlfirirrauqtilurio o,o ?i:ndo{ frt6'uavfrr{pv
2"... e a c.rJ , v.id--i
rio toue{floLiun5oi lfit tiyntU:u Ll.Ju.:H0etluulJon:!n1?luoA{tJ0ugtltJ tuA{s0ua? 9,t0sflo!aflf,vt0v

rl ir fr o vtr a o ufi riur a n rd n a*ru ru rtfr 6 n dr u

tO ob. n15!.ln!n1!:U n1[AUu1U UasnlttAlu

a d<ie v eq e a e q 4 4t
[unsfu ryavt.ru [r]!lu9rl1ildruru'rlJo to1ro14u.io?u rfiE Ln 1 nrll ouruu

,. z .
[149][UrflAn1!5U n',]rAUU',rU 1450n1[t01UBnfl0u{0 ru0J1r1U9tO.itn Ltn',]U5U n1taU14',rU 14i0n1[t0',rU

- , ". ,. i. i - - - w-
n{nA1'l!1,1un 03{O [OUdUtt{n']U lUfl1UUO 6no (a1 aU) 2U Uuflonln?UvlLO5!Ua{ lUUl{U{AAAlnEl

,z-
oufio vrnriouvrulritolffhinn6'o{n5!d?unlutuiuuu[?a1o-{neir?trifiov6ofi3mB frovra-nrororn

j j i )v
n'ru'tu[{un1a{tonvavsoautlu?19lon{1:v 145ou{RUQ1nuafl1]:unun1:ufluonlua6u6ulLsYluYl

a- - - , -' e 4 ;
1nnl!51.r n1tAUfi',rU 1450n1[t0lU UnnU01nr{UnlA.itO{yttc{o0v1,1uyr

6'o.rrir:v yior,rdnil:vrYunr:rJfrt6rrura'rgrgrudru-.rlrirfiu.:no fiovtraOuoarLrir:vd:ufiuadafiu-.rtro

od oun:utirusnurirururirrliu rirrf;uvru raiaeirldriru#u nluluri'n4uo mo (arufru) iu firrYoorn
-.te- e !
2Uvt tnSuuo.ituu14u':aonlntJnvso

<- , i ! ,3 - i-cy,u1n l{1]n1d.l1lo.lYrocgoQstj1ua.l}lafuQ1fl nt']o'rur unlu:u nltaul4'tu

r,rSorirtdriruudru-.rna6ooddnrvirlo riovdoocdul#uriffortrayitrurpr

&^ro-. r.l- il

Isuwurura u--r u rtr,t:
(, Jri ntsu iiiJ,-l )

furtshii!-?lffilB r., i il o :p ilet

SUNMED]TEC A/, H?1u

titJluSUNMEDITEC CO.,LTD,

(a{fio)

(ario)

(al6o)

(n rT tr)

a_/

iiLi I ll

K+1,\22



6

do osn. nr:lervioaapi'lil;u vioturatrardluau

lun:fifiirvnrfr oirnn?1 fio ian':rrLrnnio{cJorBlrutio"6o ratotranaoia-a
) -q ;e 4 I f,"

r,riorfinarnvrqfinr:oiduvf,rd'utofiriovtruhi6'ori!frnorunnvura uiarr,rq6untLfiritauo lu
i o -! -,nflnrvvllr.l 6raonotLnrrulunguilru'jrd?ufl1:o-o6oo'o{r.ruavnltu;fi1ifianR1nig rirlvl{lv'trra

,iJr
hiarur:ndsuoufr.rro{rr1 [iouhuacrir uer']arurild'rgrgrfl1d {ovrrufifivrBtolovEoanritJiuraia

vA,
lJU'ruriata.r!ouq1il66lJrlJ1Ln Lnuava0{ua.i[14sr14t0nqFln15ruo':na1?11:o vanE1utlJu14u.ia0 tufjnv
.! " - a J: 4 i.
d0yr5'rljn1u[u od (du11) iu uu{in0lnauvrn4Euuau4oa.: uson'] vrnlfiuo [unln:vvl5?.lo{na1?

ci
a'tr.r0vlj'ru [1r!0u9rt14[1]u tualr.Jnxl tu?5infiui tfift0?140vlj''lu [oaavaflfi

id
riunSo{unr:frov$o{eruiaanri'rtJiuvSoturutrard{rlourrrila'6y{UrToatrifirloultlol :i'.rfiu riuuri

n:6iL arfioo1fln?ufrou;on?1u!nnioltoralT u{ovfio6lfiva'ngrud'oui'.ruio{nv6au:ru6o{u6':

9t.t [LglFlu

nlilovioaoril!iuvioruraraardgLounl 6' ru'rn'lr?::nvilouluqafi io
e ! a - !c

lJ0.ir{asnofl avntl56u't9r1 vl tvuatn?i

L5AtvUnl nA r.r't u't 1o? 8 fl 154 { tA 5 nrifl ifi tuuli ufr?odrfl nodrlrafi r urifiovdoda u

(a.rf;o).....,

(a.rGo)..........

@tS^t- "xr- @ Isowoprafruuvt:
(auri r[l{il{\{:rrr

SUNMEDITEC &// trlnu

.......... rj lu
co.,LTD.

tariat......&"

Sanphaeo Genernt Hospitdl

t0 od. n15[t[:0tYlU

,; ) v ! - 3 a, ; io e n
0'ra{r0.: as9ra.ia.irou [14r]iu{an1:JafuflJ'lu lrlufl{1,0{vl40ulJ1u0vn0{a{

raEorirrdurornsilulivryrn uasd.rtorrfudoqirlrhurlouyrlliolurduvrr.rrdurEofifirtotuarGuod
A-

uacar r:abiuinr::"rtu16nufiigrufli'j1n1:nrvyrii{nr.ru1n! ivn1flrirvruo eiovtrufro.r,i'onr:'[ri
:-<aia--'a
filtarrY.rna'rer::unlnurialmuraiariafifif,vrEniu16a':rYurSotvuornsir.:rl:suufiu'ru-.:rj:vrilfililu riu

usiovldi!ouzurnornn:lr{rvirriouu5:mnao{lYra{ri'adufiildriolvru ra6or{JutorfiiruuflE'irnr:

n5vyr:?{n u'rn rl:vnraunr{ulfrr::vnlnu16o6u1d fr'lfilri'irnr:alvioftio?.rto.rri.lndrrorn
911{u:Yl,vlFl1LluL[uu [o

lunr:a'.i oufi rro{rr1x#ilil1'[#udriovdo frrdrtonYurf, uirrowur::n
)U

r,riir fiovt'ruovsiordruou'hm:rdr (Bi[t of Lading) raioa'rrurhpr:rdrdrr,rirtorriu 6ruaovjrld
a<i<--'<o.'.4,.j

!:iylntl1L9lu[50 t1]ufiiot5ofl ay0ltutog?nut50 tyru tl4unH0v{oy{l0 n!n1ianl.]0!a{t0.ie?u

tun:fififi'nrorri'lnrirr hitriu::vrnoinril.irj:ur flu'lulil:vrv1ntilulfluGotilu
a<i<--,aa,quuv:0r:o vr,.la SrturoB2nu[:0 lvlu nsfl1u9o.1d.:r.ro1J afli'lu{{u?ln{']'t tfi:uouryl901nni ra1vl1 t14

s a i rv a - i
1Ji:yifl1ro.i lsrerria6uldilSauahrrufrruaovirlddr:vrirs::rufrurfirnurfio.:ornnr:lilu::yrntio.:Tou



7

1un:fi fi frovurulririluouvfinoruodrrloaeirrvf, rer'rndr'fl ur::naot uav

"- ,- ! tr - ' ".. i , r - ' I . 3 -'li:nd1x [runHns{a[[sr0sr0a.i 0ua{t0{ri.inar? !14iravfl0nou [ouu{ L ilJt'livr.iunla{10{ 8vs0tJ

- -- i a ' .f .l s
dyiS!d{ro{d.ifla1? [aflauuaurir:JN!n']a{fl0.:uJor.rovl1u [oU01rflflnflann:ufl?un{na11ua? [o

d'e6urdliriiuaolarir fi {onruqn6'o.rsr:rrtu ria-ryrgrld'ehuuavr{r1o
4 4 v J , d.cvdi o o 

'{0n2l Louavr0uoaa0ouat o.rLoa':a'ru a{ofl:ouvt{lj:uvtufl51 (0't ) [? tuua1nrya0vu11tu'tul'[av

{d'cg6greir{6nfi ol{ah uau ofu

(ado). &l"tr C,^/t^
.itav{0

(uran:wrn u.lr{vrin:)

Isowururau*rurrltt
{rnri nt:. LrH lu u )

Banphaeo Cener.-rl Hc3pitJI

6N(a{to)

(uru6:uvlo 6:cnafio)

_ai(a{r0)

^/

(u1{a5n1u9r Hu .:)

0vl1U

11U't1l

1I U11,J(a {t 0,

SUNMEDITEC

SUNMEDITEC CO.,LTD.

tatfiIn:{ n1: bmoo6.106./ocidd

Latarla'flJfu1 bdo6,odooobc}b

@

(urlar, ffiinr o:riu)



6

51aas[6uoq finurusloyi1s

rolavvdnoriln:cgna'ur,lft ivuu PEDtcuLAR scREws (o :vn'u)

lrrnsruradruufir (asinr:urarsu)

o. n11!na{n'l:

Iarav6oorirn:ugnaiuraa'.1 tfiofirnu:uuu PEDICULAR SCREWS (o :vd'l) il'ruru olo qn

u. innrj:sa{inr:tdru
drrairlflunr:rir pt'o o milo rrL n:so nauv6'r hior n:c o nf,'uva"ld':u d':uan to'] [aufliuon

cj16511

m. qfudild6d?hj

ri:c no! pirU

sn.o PEDICULAR SCREW

en.b ROD

en.en NUT SCREW

en.d CROSS-LINK

en.d ROD CONNECTOR

d. nfudflu9|[Qlr'ls

o. PEDICULAR SCREW

,. r liro r nlnvvlvvn tfl ur..r (l-ltani u m) ull med ica I grade vior-aqvt"6n'jr

o.b PEDICULAR SCREW il- b Ltlr1j oo

- MoNoAXtAL SCREW firdue.irufiudnar{msruri <.4 fiaf,un:tguhl uaufin?l
v. , 3q

U1'lAn: n{LLgl 6no XlaaL nltut!
- PoLYAXIAL ScRrw l-r#uilruqurjnarlriluri <.4 iaiu:n:6uh msfin?1

g 
' iq

U'llAn: gl.ltl$l mo AaLt]tliflUtU

b. ROD

u.. fir#ue]runutinar{ d.d fiafiusr: rfluuvilul?mlltulofido.inrt ar r:ngl'o*as6'016'

rll!n?1 Fro{nl: ru!ilIsowulU.ta U'l u
(oodnl9r r'1 ' \

BanohJec Ctner-. hu'Prial

SUNMEDITEC
(ar6o)

(a16o)

(a16o)

(n.riio)

..... rj xo

I,J?J I fJ

.....'l it, t u

&tnt- t'''-

'f<At
........ r.. an.. r ,...

.....*V.-.1,t..

.....,.^..11u1u

SUNMEDITEC CO.,LTD.

@



b

6r'. NUT SCREW

s'.o l{An RoD rTu SCREW kiuiluvur irudonr:ldmu

d. CROSS-LINK

<." rfl uuru ADJ USTABLE arrlr:mJirinrr srrloi fi nrrrure}iu6onuaruturo

d. ROD CONNECTOR (d,rgia ROD)
-Z jrv- t i a .

d.6l !r4{uu!14 LrBo:vr4?'r.r THORACOLUMBAR uas CERVICAL vl:o Ft?utnlo.llJ0?11

PoSTERIOR CERVICAL svsrru (un:dfi ri,][fl u6'a.:1{)

Isowulu.l
(o'linrs

a0'lutl
uHluu)

c -,- ttUi)

ll'it'lu

'l'l ll I u

Cr^^

a{6o).......,..

(arfio).-.

( al',1

eu
"r.....K,1

(a'r'io).....,........ iiulu

SUNMEDITEC CO.'LTD'

d. r{auttrafllc
, ,y tr -o. o n:ruvr"luuq6orrluto'rlr,luhirnutirunr:1{{ruviottutn:olaronurnou

b. firauo:rnr6'oldrvrilf;air:olnrunrr,r *avnrrurlaooriutunr:1{lru kiurm:oruarnaorn
-:ranrriun:roaoufrloiir:ourn:oruarna uavfroanlnurirfinlrunruvn:r!nr:o'r1415uavu1

fllvvn?.ia'rfi1t afl

6n. zu[a or1n10s9ro.luuLJL[annlaon :vu5luaetouotfio :cnounr:fitl:ruruav6',olrir
a

rn:o{ulr'ruunean ilrurardolvin:{fiuiodruuorn:runr:
.J c--d. Lr.r0Lor.rnl:a{ 01J ann flua? ulnlr!!n]5t'tlFrtauv'lua1nnliruanfi5ofl'l5flua{ fi5an1n

n,rnaoifiu rornnr:lirnr:rirm-o vxui6v6'oruou}iinr:uanrrJfiuuzu6nrirudiiulral"tn

iura6mnlrudrolavvdomirnrvoni'uvd'.1 :cuu PEDtcuLAR scREWS fid. u1nvt1.lu5uvt n1:t9l

ldrirr,lunnufrnu*rrtorm vio rniolfiod'olfinr:r 6ouurjar uzuunr:rirrr'o uri'irliirnr:
u,i'i}i'inr:ufiuilnr:drrvdrriaunr:o.ird'oud': vrruidvfrorrilupiiufiotounirzualf,urirllfi
^4Inoflu

u. n:fififlrgrardrl#lilarrLr:0ilr6'nkirf,orornrnialfiohiuiou rirlvio"rrf,ud'0fl{tartBdvr6u
,,.i,tr

ttvr.l v 1{ r.ru't u uLro:u r] o tou o ''l Lt 01u a'tu n 1{vt?i 1.t tl.l1r u1u 1a a a{ 1'r u tll1.1

ol. n:fififlryvrnr:drn-o utiu du;irul,lodurnrduou'lri sterite drtridrr,fluriorl{iiudrurir.rl
. , i"
oru?ulnnn'rlTnrvuo vr.lfitr uBufi iufi otouloolrifi orirl{drurfi ilrfr l

.,' vu qd. u:lrvno{L!ury:!i.rFr{o!ri{dlirurirll lunr:rud.:orJn:oirlndurLrviolr.lr6'n

x. vir'lo r ndl:Lou zu6 n rirudufra vr nEu6'rfinr:rir:o rf, uvr a1u! r.:duvior rrd':ur,tio riou
.i c h ,-

vrxroo'ru b Loou 0srlo{uuuot] !'}4uanruauutou t}.rofitanl

@



I. MONOAXIAL SCREW

SUNMEDITEC

SUNMEDITEC CO.,LTD.

1rr0rr499
I I t0t 1500
r 1 lol l50l
I I t0 60l
r I l0l1602

r01 1 603
r I I0l 1 604
rr10|605
I I tol l70r
IIt01r702
1r toi 1703
1 1 t0t 1704
r r l0r 1705
11101 t80l
I I tol r 802
r r r0r r803
r r r0r 1804
r r i 0]l805
11r01 r902
I 0ll 903
rlr011904
Irt0t1905
I I l0l 1906
rrr0rr907
111011908
I I10120@
I r tol200l
r r r 0 r2002
r r r0r2m3
I I t 0 t20t l
r i r0r2004
r r 10r 2005
r r 1012006
I I 101080 i

CHA MP SCREW 4.0x25.0 mm.
CHA MP SCREW 4.0x30.0 mm.
CHA MP SCREW 4.0x35.0 mm.
CHA MP SCREW 4.5x30.0 mm.
CHA MP SCREW 4.5x35.0 mm.
CHA MP SCREW 4.5x40.0 mm.
CHA MP SCREW 4-5x45.0 mm.
CHA MP SCREW 4.5x50.0 mm,
CHA MP SCREW 5.5x3O.0 mm.
CHA MP SCREW 5.5x35.0 mm.
CHA MP SCREW 5.5x40.0 mm.
CHA MP SCREW 5.5x45.0 mm.
CHA MP SCREW 5.5x5O.0 mm.
CHA MP SCREW 5.5x3O.0 mm.
CHA MP SCREW 6.5x35.0 mm.
CHA MP SCREW 6.5x40.0 mm.
CHA MP SCREW 6.5x45.0 mm.
CHA MP SCREW 6.5x50.0 mm.
CHA MP SCREW 7.5x35.0 mm.
CHA MP SCREW 7.5x40.0 mm.
CHA MP SCREW 7-5x45.0 mm-
CHA MP SCREW 7.5x50.0 mm.
CHA MP SCREW 7.5x55O mm.
CHA MP SCREW 7.5x6O.0 mm.
CHA MP SCREW 7.5x55.0 mm.
CHA MP SCREW 8.5x4O.0 mm.
CHA MP SCRFW 8.5x45.0 mm.
CHA MP SCREW 8.5x50.0 mm.
CHA MP SCREW 8.5x6O.0 mm.
CHA MP SCREW 8.5x65.0 mm.
CHA MP SCREW 8.5x70.0 mm.
CHA MP SCREW 8.5x8O.0 mm.

CHA MP SCREW 8.5x1m.0 mm.
TITANIUM INNER SCREW Ml0xl.5 mm

Isorvururaui'ruttdt
(.1,lnnl5utt-luu)

iteIBanphaeo General

SUNMEDITEC

SUNMEDITEC CO.,LTD.

Product Code Descri tion

NJ

L

E?

." -". -.

ffi
@

(,r.r.o'o ) .......flg.f-....... ri?o

( rr.rdo)........,.. . i*#..........,ir.,,,. .{ -lV \\/ /\ l; ;i;)l .....,WA1,4, ,iN,,,/.,,...,. t lit 1U

. , $/(rr r rJ)....,.........oVI.....,,.,.. 
'irr 

i rr

t\'l
rd.4



POLYAXIAL SCREW

IIt0t2400
r r r0r2{ol
I I r012402
I I 1012403
1 1 1012404
I r r 012405
I I t0t 2406
l't 10r2504
r r 01 2500
1r r012501
r I r0r 2502
1t r012503
rrr0r2504
1r 10r2600
I 012601
t't10r2&2
1i r 01 2603
rrr0r2604
i 1 1012606
111012702
1 i 1012703
111012704
r r r012705
't 1to12707
r I l0i 2708
1110128ff.2
I r r 012803
r r lor 2804
rrr012805
rlr0r2806
I I I0r 2808
l r loi 2902
r r r 012903
1 1 10129m
I I t0t 2904
r l r0r2905
rIt0t290t
'll rot080r

CHA PP SCREW 4.0x25.0 mm.
CHA PP SCREW 4.0x30.0 mm-
CHA PP SCREW 4.0x35.0 mm.
CHA PP SCREW 4-0x{O.0 mm.
CHA PP SCREW 4.0x45.0 mm.
CHA PP SCREW 4.0x50.0 mm.
CHA PP SCREW 4.0x55.0 mm.
CHA PP SCREW 4.5x25.0 mm.
CHA PP SCREW 4.5X30.0 MM.
CHA PP SCREW 4.5x35.0 mm.
CHA PP SCREW 4.5x40.0 mm.
CHA PP SCREW 4.5x45.0 mm.
CHA PP SCREW 4.5x50.0 mm.
CHA PP SCREW 5.5x35.0 mm.
CHA PP SCREW 5.5x40.0 mm.
CHA PP SCREIY 5.5x45.0 mm.
CHA PP SCREW 5.5x50.0 mm.
CHA PP SCREw 5.5x55.0 mm-
CHA PP SCREW 5.5x60.0 mm.
CHA PP SCREW 6.5x35.0 mm.
CHA PP SCREW 6.5x40.0 mm.
CHA PP SCREW 6.5x45.0 mm.
CHA PP SCREW 6.5x50.0 mm.
CHA PP SCREW 6.5x60.0 mm.
CHA PP SCREW 6.5x70.0 mm.
CHA PP SCREW 7.585.0 mm.
CHA PP SCREW 7.5x40.0 mm.
CHA PP SCREW 7.5x45-0 mm.
CHA PP SCREW 7.5x5O.O mm.
CHA PP SCREW 7.5x70.0 mm.
CHA PP SCREW /.5x80.0 mm.
CHA PP SCREW 8.0x45.0 mm.
CHA PP SCREW 8.0x50.0 mm.
CHA PP SCREtry 8.0x55.0 mm.
CHA PP SCREW 8.0x60.0 mm.
CHA PP SCREW 8.Ox70.0 mm.
CHA PP SCREW 8.0x80.0 mm.

TTTANIUM INNER SCREW MIOXI.5 mm

n lsowurura0rutlWl
(DorintsuHluu)

Banphaeo 6eneral llcs

SUNMEDITEC
(-g,.t * tiin

(ac6o).... b$I ii,|ir SUNMEDITECCO.,LTo.

c,'
\-...a|.a.,:

Product Code Descri tion

la
bN btb,

SUNMEDITEC

SUNMEDITEC CO.,LTD.

aat
I1l

a
L-

t



SUNMEDITEC

SUNMEDITEC CO.,LTD.

2. ROD

5.5 mm.

tttotDt22 TITANIUM ROD 5.5x40 mm.

I I l0l0l24 ITANIUM ROD 5.5x60 mm.

111010126 TITANruM ROD 5.5x80 mm.

111010128 TITANIUM ROD 5.5x100 mm.

111010130 TITANfUM ROD 5.5x120 mm.

1l1010132 TITANIUM ROD 5.5x140 mm.

1t l0l0136 TITANIUM ROD 5.5x300 mm.

ll10t0t39 TITANIUM ROD 5.5x500 mm.

(ar6o).... &^^'
Banphaeo General

SUNMEDITEC. ral' il
(a.rSo)....

.........>'............'^l^/

(ir .l ,i ..-)

......,it,tu

.....1.rr. r.....

...{*:N-
I l?l It,

SUN[IEDTTEC CO.,LTD.

(a i.ir)...............
......",.. i'i i.r .,,

7k ,,&,

Product Code Description

1if-n -.,. lsow uT u I a d1 u u vt lv'



SUNMEDITEC

SUNMEOITEC CO.,LTD.

Product Code Descri tion

Tt

Crorr Urk Hook System, Ilianlum
CROSS LINK HOOK 6/4 mm--2

CRoSS tlNK HOOK WITH LOCKING BAR 3$45mm.
CROSS tlNK HOOK WIIH LOCKING BAR 45-60mm.

CROSS UNK HOOK WIIH IOCKING BAR 6G75mm.
CROSS LINK HOOK WITH LoCKING BAR 7$90mm.

=s
l I t0t0.o3

Conn€clor Rod, frlonium

(D tu
{B #

*

ot
tr

I I t 0t090 t

11r0r0902
1t tot0903
I13000900
1 13000901

I I 10t0904
11r0r0400
I t 10io,ol

n ,, Isowu'tuta0r uttwf
(arJrifltsur: )i r)

iosDit

(a.rGrr) SUNMEDITEC

SUNMEDITEC CO.,LTD.
-Vk/ 6AL

tu,

m
I

1 I 1010200

l not060l
I I 1010602

l r 1010603
I I 1010604

F- ra-l-lL:)
INNER

ALIGNMENT CONNECTOR 6/6 mm.-3
PARATLEL CONNECTOR 6/6 mm.-4

PARALLEL ROD CONNECTOR 6/6 mm.'2
PARAII"EL CONNECTOR 6/4 rnm-3[rRlPLE)

PARALLEL CONNECTOR 6/4 mm.-3(DOUELE )

INNER SCREW M8xl.25 15.0 HEX4.5 mm.
INNER SCREW l/4 20G BSW 14.8 HEX 3.5 mm.

TNNER l/4 lN L 8.0 HEX 3.5 TtP120'

(nrfio)

.itrijir.!j

......t'ltllu

rirnu

efu-
...,.. ii u irr


